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Math 0220 Quiz 3
Fall 2017 Solutions
1. Find the limit
(a) lim  secx
z—(—m/2)~
Solution:  secx is getting larger and larger as = approaches —7 +1 pt
secx < 0 when —7T<x<—§ +1 pt
Therefore lim secx = —oo0. +1 pt
z—(—7/2)"
(b) lim (Va? -z —x)
T—>r00
Vi —xr+zx
Solution: lim (Va2 —x—2) = lim (V2?2 —2—2) —mn—— +1 pt
m%oo( ) x%oo( ) Vil —x4+x p
22— o — 2
= lim ——— = lim +1 pt
x%w\/xQ—x+x Iﬁoox/x2—x+x p
1
= lim ———— - % +1 pt
T—00 \/ — X + x % p
. —1
= lim +1 pt
—1 —1 —1 1
_ = —3. +1 pt

J1—lim = +1 \/1— +1 1+1
ZE—}OO

2. Using limit find the slope of the tangent line to the curve y = 1422 at the point (—2,5).

Solution: x = —2. Let f(z)=1+ 2%
f(=2+h) - f(=2)
h

The slope is m = lim

h—0
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3. The graph of the function f is drawn. Sketch the graph of f’ below it.

N W = Ot O N

—'6—'5—'4—'3—'2—'11 1 2 3 4 5 6=

—91

Figure 1: Graph of f.

Solution:

Figure 2: Graph of f.
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bonus problem Find a formula of a function f that satisfies the following conditions

EIP f(z) =0, EIJP f(z) =0, hi% f(z) = —o0,
f(2) =0, lim f(z) = oo, lim f(z) = —oo.
2—zx

Solution:  f(x) = T P



